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Note:- You have four choices for each objective type question as A, B. C and D. Ihe choice which you think is correct,

10.

11

12,

. One of the isolope of Uranium is sz

o il F i L
_ The relation between velocity, frequency and wavelength of awave is! ~<. fuyx:f_i-@;js 2 (,f“:g/‘u’u;d/gs.g =

_The speed of sound in wood at 25" C in meter per second is:

fill that circie in front of that guestion number. Use marker or pen fo fill the circles. Cutting or filling two or more
circles will result no mark. '

. What is the voltage across a 0£2 resistor _q_t‘)fé}:sbii,)’!é._}’_bu'l_;':‘;_l?.t.'rr;*r‘)’ﬁ’ 3A wae Ul 668 O

when 3A of current passes through it?

3V (D) 18v (C) 9v (B) 2V (A}

L] * & . P T & o
_ To produce electron beam by thermionic emission, e b by ”»_"r.i_flc;(fd‘/s_}?lz:;ji Ly A2

the polential of tungston filament is:

12v (D) v (C) v (B) 3V (A)

) o . ) e v B s o B . N g{ ,,"'fw/
. If the current in a wire which is - C':’..L&;"»'fdU.’.._/JJ!‘{J‘I:!'Z_'.'ggb_::ﬁ[ﬂ",)»."/'jrr_l_qu'_..;::-U:/'JL,'U’AL, L IS B G L3

placed perpendicular to a magnetic field increases, the force on the wire:

will remain the same d;fwi,hf” (B) wilt be zero Jy:)‘ {A)
will increase &y )] will decrease ;_';if:f {C)

. The brain of any computer system is: ‘%iLJST/I’J}J_ﬁJL(éOJ’H _4
control unit =i (D) crPu iy (C) memory U2 (B)  monitor A (A)

_ The output of a two-input NOR gate is 1 when! | ) ! —— x{?-,g:i,f 1 ..z,;..:.,jfu{;,{thf;_:.;ul 2 5

Y

A=1,B=1 (D) A=0,B=0 (C) =/ A=0,B=1 (B) =~ A=1.B=0 (A)
R ; i g 218 ke S ;
e G ST U e 22U/ wt ug ¥ () -6
The number of» Neutrons in this isotope is:

330 (D) 238 (C) 146 (B) 92 (A)

v="2 (D) vi=f  (C) fA=v (B) =24 (A)

e RS, 25C 8

3980 (D) 2000 (C) 1200 (B) 972 (A)
" The human eye has: | < tLg_L_L_u:f 7401 -9

concave lens A e (B) convex lens - ,&L’gf (A)
concave mirror e (D) © convex mirror /_, 5 (C)

The critical angle of glass is: sz ff- -f/ﬁ%fgc‘f‘ -10
42 (D) 90 (C) 45 (B) 0 (A)

Mathematical equation of Coulomb’s Law is: _‘;_..-J;l/-QLzJL;;)L}‘;f. il 12
F=k ‘i’if}f (D) F= f{% (©) F= ;“—}‘-j’u B) F= kifi (A)

The specific resistance of nicrome metal is: % Ot U)};‘.Er;rd/u%pft 212

400x10°Qm (D) 300x10°Qm (C) ,200x107Qm  (B) 100x107° Qe (A)
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Note : Section I is compulsory. Attempt any Two guestions from Section II.

(section - I Jil.2)

2. Write short answers to any Five Parts : (5x2=10) _i:;atlfﬁ""é,'.»l?fé;;:.;,‘:f -2
i. What is meant by frequency? Write its unit. ._f-'K/l Q;.J!/Lfc‘_.u ;.( |
- ii. What is diffraction of waves? ‘Sg,ﬂ/g‘:,u -,’.-guj; -ii

¢ - AL ) 1 F s T il L
If 100 waves pass through a point of a medium “-‘onl;"u"‘;g/urj_’;;j:.s‘uf:d,}fﬂ,ckZD c;_:x-lg-..glﬁﬂg,rz; 100 /1 iii
in 20 seconds, what is the frequency of the wave? -

fil.

iv. What is meant by echo of sound? - ':q_.'yy;,,_fnd};v -iv
v. What is meant by reverberation? ?.;..r:_/g";_o"ﬂ?g Y
vi. Why soundless whistle is used to call dogs? ?.f_.JL?dUb:"u’:;'/if.é_.Ll{f;_) ;f[;‘:’;l,ﬁ»',_ _vi
vii. State Snell's Law. SIS il
viii. Differentiate between real and virtual image. ._a‘_‘;'f,'bi_-J}u’:érJ;;n 9 LJfJ _viii
3. Write short answers to any Five Parts : {5x2=10) -Z:)_-«Uﬁ/""&rl‘z‘.'léka.df -3
| Define Potential Difference. 2y j"JQ’Z)Jﬁ i
ii. What is S.I unit of capacitance? Define it. 5 i /‘U/gﬂ %.v 2y STEU™ u‘lf _ii
iii. State Coulomb's Law. e i
iv. Prove that: ; I £ NR Y ek v
v. What is Ammeter? Write its range. . _ ’ &”/;,;Jw °¢.Lf/1 N
vi. What is meant by Electromagnetism? '; x‘ i e ;lfl, .:_f/e Ot _vi
vii. Write down the contribution of MRI in me\dlcagefd ' -cv.“..,Ly._, ﬁudl MRI _vii
viii. Define Transformer and write its principle. . _f_.f:r'ul_ddﬂggl 7 c_:....:_J/O/NAi/ Vil
4. Write short answers to any Five Parts: (5x2=10) Fe2 L ke & 4
i. Write the components of Cathode Ray Oscilloscope. -2’5} (Ll 1,:*/1;’:‘;l¢.; 3 i
ii. What is difference between A.D.C and D.A.C? ) . ?c..Q}LfJ‘ A.D.C » D.AC .ii
i, Write truth table of " AND " Gate. - : dﬁu’ﬁa’u b’j AND el
iv. Define Information and Communication Technology. ‘.;»fg(j :’Lf»u"('yj FrIRY PO v
v. What is meant by Data Managing? ' ?c‘..Jf-.;.:,.ffftj v
-vi. Define Nuclear Transmutation. S ,&,‘Lg{ﬁurﬁrujw’fﬂj _vi
vil. Write two properties of /7 (beta) rays. _ﬁdagn“" » Syl Vi
viii. Define Radioactive elements. &y AL i

~ (Section-II ¢» =)
(Each question carries Nine marks ( 4+5 =9) .1 A3 LJwr)
5.(a} Write down important features of S.H.M. _J._x..»r‘(uu n.whd' (a) -5
e 2338 /TR M e 3 I T ek (b)
e s, N B 750 M b S () Sl Fidr

(b) Nabeela uses a concave mirror when doing her makeup. The mirror has a radius of curvature of 38cm.

(i) Whatis the focal fength of the mirrar?
(nj If Nabeela is located 50cm from the mirror. Then where will her image appear?

6.(a) Write down the characteristics of parallel combination of reststors 42: o = y“’t}iJ/'d:J;’}J (a)-&
/’-Lf‘"' 2 u:_)sd{f'["u)ou;!uvﬂa.f;bul Y Py CJC.—VJ}’JIO 1N :E.,/}J._.Llul'uy z4 6L "”{_; 527 1 (b)
{b) Two charges repel eachother with a force of 0.1 N when they are 5cm apart. -uxfé J{..; b

Find the force between the same charges when they are 2cm apart.
7.(a) What is the difference between AND and NAND &5t (0 /U e saJ 450 sl Ll ?édjyvzuéa sl (@) -t

gates? Explain this difference with the help of symbols and truth tables.
r ] # 5 ’
(b) Carbon-14 has a half life s:mc-,,_-:s,u:rg .:'_.f,mf_f 3 Ko duaid 14-gs - 5730 IS 14-ci8 (b)

5730 years. How long it will take for a quantity carbon-14 in a sgmple drop fo one-eight of the initial guanfity.
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Naote:- You have four choices for each objective type question as A, 8, C and D. The choice which you think is correct,
fiil that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

1. 1. The presence of magnetic field can be detected by: iﬁ;ﬁatgg@;;(&ﬁydl&;_@-p sl =
small mass eUll g (B) magnetic compass PRl (A)
stationary negative charge :;é,,aﬂgfzg-}f/v (D) stationary positive charge < {sbx ‘Lu(L» (C)
2 An electric current in conductors is due to the flow of: - L \f’é--f/-{/i:'uf /jf .2
negative ion '/Ty‘“-ﬁ (B) positive ion Tl (A)
free eiectrons 73 AT (D) positive charge  Lleszil (C)

3. Whatis the power rating of alamp  fwibutt/ 25A - EULE Sn’ L,;L.(J:';U/:f{a:léf@;ﬁ:_d;réﬁv 3
connected to a 12v source, when it carries 2.5 A current?
60w (D) ow  (C) 145w (B) 48w (A)
4. The Coulomb's force between < (% Jonl Yl e g6 2m e L 20 oAl A it 5 -4
two point charges each of magnitude 2c separated by a distance of 2m is:
9x10° N (D) 9x107 N (C) 4.5%x10° ‘(\z 45x107° N (A)
5. In an astronomical telescoee, the distance between - r;‘ybuv;:igf‘(}! s /’}Sﬂu*..,ﬁ}’ J{"'!/I -5

objective lens and eye piece is:
equal to J,, —fg 1 16 9(B) equalto f, + /e s Jo¥ 1 B
greater than f, + /. . arm Bt (D) less than [, + /. f:-._ fotte (C)

6. The position of fish inside the water Seems to be atless -t - UTE PSS/ NASLNL Y, 6

depth than that of actual depth, because of:

dispersion of light J/}JL,(U (B) total internal reflection u""jﬁlJ/LU} {(A)
refraction of light L (D) refiection oFlight ~ SR )

7. What will be the speed of sound having frequency 6804, ‘-'Jﬁ'.;@_-;’u(}":fdf.m‘%’: 0.5m u"’f/’ 680H, _7

and wave length 0.5 m?

1340 ms™' (D) 680 ms~'  (C) 340 ms™ (B) 134ms™  (A)
8. Which one of the followings is correct? o fe y,-:vufﬁdjé,» B
.V 4 A
f= 7 (D) f=; (€) “F=g @ f=Vi (a)
9. Which one of the following radiations has high frequency and - r(‘f‘:‘b PN J‘;f/fju/lguu -9

short wave length?
Cathode Rays v 3¢ (D) Gamma i (C) Beta & (B) Aipha I (A)
10. Which is the most suitable means of reliable continuous \.';,_.vu;ig,_;vuf’-"‘if-“ sl rbrend 25 sl 2 I 10

communication between an orbitting satellite and earth?

micro waves it WA (B) radio waves Ifsd ks (A)
any light waves ;gsyuu"%{ (D) sound waves skl {C)
11. The process by which elecirons are emitted by a hot metal ‘;:_tlk@ﬂﬁy.zﬁﬁs}gfc,i’ffu’&: kK Al 1
surface is known as:
conduction g (B) thermionic emission ¢ b # (A)
boiling Ly (D) evaporation ¢ 'r.'-"-}y fl {C)
12. AND gate can be formed by using two: _.c.,Jr L*--”HJ ro’~....Jyrn,’ ('Wlu"f T c“_.d!'/ A2

NAND gates u‘gja (D) NOR gates fL {C) .7 OR gates u ;I (B) NOT gates J‘-’_»L (A)
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Note : Section I is compulsory. Attempt any Two guestions from Section II.

(Section - I Jil.»)
(6x2=10)

2. Write short answers to any Five Parts :
i. What is meant by dampped oscillation?
ii. Define Refraction of Waves.
ili. Differentiate between vibration and frequency.

iv. Calculate the intensity levels

v. What is meant by intensity of sound? Write its unit.
vi. Write two unpleasant effect of noise on human heallﬁ.
vii. Write down four uses of lens.
viii. Define the terms Magnifying Power and Resolving Pawer.
3. Write short answers to any Five Parts : | {5x2=10) .
i. What is the unit of capacitance? Define it. .
ii. What is meant by eleciric field and electric intensity?
iii. State Joule's Law.
iv. What is the difference between .C and A C?
v. What is Galvanometer? How it is connected in a circuit?
vi. Can a transformer operate on direct current?
vii. State Faraday's Law of electromagnetic induction.
viii. What is the role of spiit rings in D.C moter?
4. Write short answers to any Five Parts: {5x2=10)
. i. Define thermionic emission. _
ii. Write down the difference between analogue and digital quantities.
iii. Write truth table of OR gate.
iv. What is meant by Hardware? Give an example.
v. What is meant by information Technology?
vi. Define Nucleons.
vii, What is meant by ionization effect?

viii. Write down uses of radio-isotopes in medical field.

( Section -1 _¢» =)

(Each question carries Nine marks { 4+5 =9)
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of the rustling of leaves, if intensity of the rustle leaves is 1.0x107" wm™
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5.(a) Write down the characteristics of Simple Harmonic Motion.

_cf_ff..aL:r“'UJs”‘..J.:’JL, (@) -5

e P B hearla bt o Sl sd e Ao 5D Jsgwf{,ﬂm_,s (b)

(b) The power of convex lens is 5D. At what distance the object should be placed from the lens, so that its real

and 2 times larger image is formed?

6.(a) Describe the factors affecting resistance, in detial.

B I i Sy s

(a)-&

-e Lok 1.6x10 I9C,¢_J: Jesles J,J’f"l.f_.»’ "{-’/lxﬁ 100 uC ¢ Likbe fuﬁ)laﬂﬁrVCd{ (b)

(b) The charge of how many negatively charged particles would be equal to 100 #C | Assume charge on one

negative particle is 1.6x1077C.
7.(a) Explain the working of different parts of oscilloscope.

*35“:('31” (Trz} S I entS -é

_.i::.?ufurrfﬁuy“lﬁév)(‘.é}f (a) -
§A 27 bl gh15 1 (b)

(b} The activity of a sample of radioactive bismuth decreases to gne-eight of its original activity in a15 days.




